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1. iz R E BRI R 5114,
(1) AB+ AC + BC = AB +C

IEH]

AB+ AC+ BC = AB+ (A+ B)C
= AB + ABC
=AB+C

(2) BC+D+D(B+C)(DA+B)=B+D
1ERA o
BC+ D+ D(B+C)DA+B)=BC+ D+ (B+C)(DA+ B)
=BC+ D+ BC(DA+ B)
=BC+D+ DA+ B
=B+D

(3) ABC + ABC = AB+ BC + CA

JEAA -
ABC + ABC

(A+ A)(A+ B)(A+C) B+ A)(B+ B)(B+C)(C+ A)(C + B)(C +O)
=(A+B)(A+C)(B+ A)(B+C)(C+ A)(C + B)

AB+ AC +BA+BC+CA+CB
b

T

AB+ BC +CA

(4) AB+BC+CA=(A+B)(B+C)(C+A)
TERA
(A+B)(B+C)(C+ A)=ABC+ ABA+ ACC + ACA+ BBC + BBA+ BCC + BCA
=ABC+ AB+ AC+ AC+ BC+ BA+ BC + ABC
=ABC+ AB+ AC + BC
=AB+ BC+CA
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(5) ABC + AB+ AC = BC + AC
IERA ) B B B
ABC + AB + AC = B(AC + A) + AC
= B(C' + A) + AC
= BC + AB + AC
= BC + AC
(6) AB+ AB = (A+ B)(A+ B)
TER L
AB+ AB = AB AB
= (A+ B)(A+ B)
= (A+ B)(A+ B)

(7) AB+ AB+ BC = AB+ AB + AC

TE o B )
AB+ AB+ BC = AB + AB + BC(A + A)

AB + AB + BCA+ BCA

AB+ AB + ABC

A(B+ BC)+ AB

A(B+C)+ AB

= AB + AB + AC

2. HIZARAHUE BAL T T 2112 4 R B

(1) AB+ ABC + BC
AB+ ABC + BC = B(A+ AC + C)
=B(A+C+0C)
=B
(2) ABC + ABC + ABC
ABC + ABC + ABC = B(AC + AC + AC)

(3) ab(ed + ed)
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(6) @bé + abc + abé + abe

abé + abc + abé + abc = ab + abc + abc
= b(a + ac) + abe
=b(a + ¢) + abe
= bac + bac
4. AR BT T SNk =L
G = f(a,b,c) =>-m(1,3,5,6,7)
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G = f(a,b,c) =ab+c

H = f(w7x7 y7 Z) = Zm(()’ 27 87 10)
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I'=f(w,z,y,z2) =3 m(1,3,4,6,9,12,14,15)
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I=fwz,y,2) =2dz (wyz)

J = f(a,b,c) => m(0,1,2,3,4,5,7)
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K = f(a,b,c,d) = S m(3,4,5,7,9,13, 14, 15)

20 o 11 10

0o | o |/1\]| 0
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ulo [0 G

10 0 |1 01 0

K = f(a,b,c,d) = bd + abc + acd + abc + acd

L= f(a,b,c,d) =3 m(0,1,2,5,6,7,8,9,13, 14)
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L = f(a,b,c,d) = be+ ¢&d + abc + acd + bed
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5. F-RUE B R F B K Ii s .
H = f(a,b,c,d) =[] M(2,3,4,6,7,10,11,12)
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H = f(a,b,c,d) = (a+¢)(b+c+d)(b+¢)
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F = f(u,v,w,z,y) = [ M(0,2,8,10, 16, 18, 24, 26)

WX
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11{y y 1 1
10 [\Y y/ 1 1

F = f(u,v,w,z,y) =w+y
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6. TET T 21T A0 = T ) a2 e pR 2
V = f(a,b,c,d) = S m(2,3,4,5,13,15) + 3 d(8,9,10, 11)

20 01 11 10

00| o 0 1 1
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1] 0 //1/’ \?\\ 0
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V = f(a,b,c,d) = ad + bc + abc

Y = f(u,v,w,z) = > m(1,5,7,9,13,15) + >_d(8,10, 11, 14)
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0L o 1 1 0

11 0 1 1 d

10 d |\d d/d

Y = f(u,v,w,z) = zuvw = z(u + v + 0)
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P = f(r,s,t,u) =>.m(0,2,4,8,10,14) + > d(5,6,7,12)
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H = f(a,b,c,d,e) =Y m(5,7,9,12,13,14,17,19, 20, 22, 25,27, 28, 30) + 3_ d(8, 10, 24, 26)
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H = f(a,b,c,d,e) = ace + ace + abce + bede + bed + abed
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I=f(de, fgh)=]]M(5,7,8,21,23,26,30) - [[ D(10, 14,24, 28)
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I=f(de f,gh)=(+f+h)(e+g+h)(d+e+f+h)

8. B T H138 48 R H b 1 5 AR T A 1 2
U= f(a,b,c,d) => m(3,4,6,11,12,14)
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U = f(a,b,c,d) = bd + bed = bd bed
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V = f(a,b,c,d) =5 m(0,1,2,5,8,10,13)
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V = f(a,b,c,d) = (a®b® d+ ab)ed = a ® b ® dabed = (ab+ ab) & d cd

= (ab+ ab)d (ab + ab)d cd = ababd ababd cd

W = f(a,b,c,d) =Y m(3,5,7,10,11)
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W = f(a,b,c,d) = acd + abd + abed + abed = acd abd abed abed
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9. 4 T FZ 4 o B AL ] kAR T 20 1 2
G = f(a,b,c,d) =] M(0,1,2,5,8,10,13)
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G = fla,byc,d) = (b+d)(c+d+abe)=b+dc+d+a+b+c

H = f(a,b,c,d) = [[ M(3,5,7,9,11)
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H = f(a,b,c,d)=d+abc+ab=d+a+b+c+a+b
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